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First Mid-Term Test - 2019

Time: 1.30 hrs. | MATHEMATICS - Max. Marks :'-50
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PART -A

: Choose the correct answer : 10 x 1=10

IFA={(X,y):y=exx e R}&B={(x,y):y=e* x € R}
thenn(ANB)is a)o b)0 ¢c)1 d)2 . ,
Let Aand B be subset of the universal set N. The set of natural
numbers then AU[ (AN B)UB’]is a)A b)A ¢c)B d)N
If n(A) = 2 n(BUC) =3 thenn[ (AxB) U (Ax C) is

. Ay b) 32 ¢}6 dyb

The number of relation on a set contalnlng 3 elements is
a)9 b) 81 c)512 d) 1024 _
The solution of 5x —1 <24 and 5x + 1> —24is

‘a) (4,5) b)(-5,4) c)(-5,5) d)(-5,4)

If 3 is the logarithm of 343 then the base is -
a)5 b)7 c)6 d)9
The number of roots of (x + 3)*'+ (x o 5)4 16 is.

a)4 b)2 ¢)3 d)0-
X

- X
The maximum value of 4sm2x + 30032x +sin — +cos — is -

2 2
a)d+ 2 b)3+J§ ©)9.d)y9 SRR
Cosi® + cos2? + cos3° + ... + cos 179° =
2)0b)1 c)—1 d)89 >
If () = |sin 6] + |cos 0], 6 € R than f(9) b Intrvel

a)[0,2] b)[1, Y21 ¢)[1,2] d)[0,1]

Answer any five. Q.No.17 is compulsory. 5 x2=20
If n(A N B) =3 and n(AUB) = 10 then find n(P(A A B))

‘Find the domaln of

sin X '
Solve 2|x +1|-6<7 and graph the solution setin number line.
Find the values of P for which the difference between the roots

of the equation x2 + px + 8 =0is 2.

Find the length of an arc of a circle of radius 5cm substendlng a-

central angle measuring 15°. .
Find the value i) sin 150° ii) cos 135°
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Solve : [2x—3| =|x - 5| | |
Answer any five. Q.No.24 i is compulsory i 5.3 ='15 :
-X+4 —pex€-3 | |

X+ 4 ;—3€x<—2

.*sz—x; D e I } % '
x—x2 : 1<x<7 Wrntethevaluesoffat—4;1,-2,7,0

ALk ; otherWise

' T2 -I | \
_Find the range f(x) = S
= rg gpf (x) 1-3cosx
Prove that ,/2 is an irrational number.
" | Il " | - [ .- X --'
Resolve into partial fraction - (x+3)(x-4)

: tan0+sec®-1 1+sin0
Prove that = £
" tan®—-secH+1 cose _

If sinO = -g— and the angle is in the second quadrant then find -

the values of other five trignometric function.

f 75 5 32
Prove that : 167 21095 + Iog——-— =log2

343 - |
5 Mark question. - 3x5=15
The formula for convertlng from Fahrenhelt to celsius
- bx 160 e
'tem peratureisy = —95 g Find the inverse of this function

and determlne whether the inverse is also a function. (OR)

s g R — R are defined by f(x) |x| + X and g(x) |x] = x find

gof and fog.
Solve 2x2 + x—15<0 (OR)
L X+ -
Solve - <3
X+3
‘ L . 4—3(m? —1)%
If sin® + cosO = m then prove cos®0 + sin®0 = (.4 1)

(OR) IfA+ B+ C = 180° then prove
sin2 A + sin2B — sin?C = 2sinA sinB ginC
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